Area of Parallelogram and Tnangle (n)

AEEZ:

Fill in the blanks according to the figures :

DEx E&yZ & AB o BC: Ly & AF - BD % F #93& £AC
The height to DE is__ AB . The height to BC is__AF . The height to_ BD is AC.
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ABs2 Ly & AE o ABi# L&y s & CE o BC/AD % r w9% =EF -
The height to AB is__ AE . The height to AB is_ CE . The height to BC/AD is gF.
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FD Eeydm 2 AF - ABFEwmFZRE CE - BD i #9: 2AC

The height to FD is_ AF . The height to AB is_ CE . The height to_ BD is AC.
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Calculate with solution :

S

22cm
W A _
Area 22x10
220cm?
®
10m 9cm
i 3 7]
Aii= 25x8+2 Aii= 24x8
= 100m? = 192cm?
®
12cm, O~
20cm .
o A5
Ar?az 20x28+2
280cm?
®
16m
0 — \T2n
9m  Tm
& A _ ) F2 %3 o @ H .
Area 12x27+2 Area of the shaded part (9+7)x16+2-Tx2
= 162cm? = 114m?
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